do/dH; [pb / GeV]

[EEY

Ratio to ATLAS

0.5

13000 GeV pp
L

HT(Z+jets) (ATLAS Z+jets)

)
c
o
>
= —
— X<
- =)
— 10
— A
I BEA
— __d
= =
— :ri
— Jos
- 1o
- 1=
= =
= Eloy
_ — ™M
= <
L _| M
©
— je— o
= m =R
N ] ] 2
L m ATLAS _>%
_ --13-- Herwig 7.1.6 default —
= —a— Pythia 8.308 default . ==
e ¢+ Sherpa 2.2.9 default H g
! %)
= - ERE
— ] Q
[ — O
B | | | | | —— | | | | | - | | —— l_ E
: T T T | T T T T | T T T T | T T T |:
— -2
1
i .. :
| —0.5
" 1 1 1 1 " | " 1 1 1 " |
0 1500 2000



	Contents
	Page 1


